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Second Year
(i) ENGLISH PAPER - 11

MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

(a) Read the following passage and answer the questions.

(b)

Ancient India was an advanced knowledge society. Invasions and colonial rule
destroyed its institutions and robbed it of its core competence. Its people have been
systematically degraded to lower levels of existence. By the time the British left, our
youth had lowered their aims and were satisfied earning an ordinary livelihood. India
is a land of knowledge and must rediscover itself in this aspect to achieve the quality of
a developed nation.

(1) How did India lose its competence?

(11) Why did the youth lower their aims?

(111) How can India become a developed nation?
(1v) In which lesson is this passage found?

(v)  Who is the author?

Read the text given below and then answer the questions that follow by choosing the
right answer.

Hearing that a zookeeper has managed to train a tiger to live in the same cage as a
goat, a man pays a visit to see if it’s true. Amazingly, the man finds the animals lying
next to each other. ‘How did you do this?” he asks the keeper. ‘Is this a trick? ‘No’,
replies the zookeeper, ‘this has been going on for three months now. I don’t mind telling
you, though’, he confides, ‘we’ve had to replace the goat a few times.’

(1) The man visited the zoo because he wanted to

(A) meet the zookeeper.
(B) spend time with the tiger and the goat.
(C) see the tiger and the goat living together.
(D) see the tiger eat a goat.
(1) ‘We've had to replace the goat a few times’. This was because
(A) the tiger and the goat were good friends.
(B) the tiger got bored with the goat.
(C) the hungry tiger ate up the goats put into the cage.
(D) the goats grew afraid of the tiger.

(111) By putting the tiger and the goat in the same cage, the zookeeper was
the public.



(A) deceiving
(B) shocking

(C) entertaining
(D) informing.

(iv) Synonym for the word ‘replace’ is

(A) Precede
(B) forfeit
(C) recover
(D) change
(v) Antonym for the word ‘replace’ is
(A) restore

B) keep
(C) receive
(D) alter

Answer in about 100 words.

(a) What is PT Barnum’s advice to people about savings?

(b) What is Helen Keller’s plan for the first three days of sight?
(¢) Sketch the character of Edward Middleton.

(d) What are the sources of knowledge?

Answer in about 200 words.
(a) How did Gandhiji realize that it was his character that made a gentleman of him?
(b) Summarize L.A. Hill's advice to a person to become a successful writer.

(c) What is the central theme of ‘The Drunkard’?
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1. (a) Answer in about 100 words.
(1) What is the immediate effect of the bird’s song on Keats?
(11) What is the connection between the river and the ocean?

(111) Describe the lover as portrayed by Browning.

(b) Explain the following :
(1) And set the wall between us again.
(11) Like the weary rivers of the blood.
that bear the scum of ancient memories.
(111) My whole heart rises upto bless.

your name in pride and thankfulness.
2. Answer in about 200 words.
(a) Critically appreciate, ‘Ode to a nightingale’.
(b) Comment on the central theme of Dickinson’s prescribed poem.

(¢) Summarize the main ideas of “The Gift of India’.

3. Answer in about 200 words.
(a) Bring out the appropriateness of the title ‘Ha’ penny’.
(b) Comment on Tagore’s art of characterization in ‘Subha’.

(¢) Narrate in your own words the story of ‘The Lottery Ticket’.

4.  Read the following passage and summarize it.

With the discovery of radium, fame came to the Curies - and they did not enjoy it. The two
great scientists had discovered a secret nature and later they were to make other discoveries
and give them to the world. And how did the world respond to them? By giving them the
things they had wanted the most? In fact, the only things they wanted were a good
laboratory, peace and quiet! Every day, they received letters inviting them to write articles
for the newspapers, to lecture at public meetings and even to give money to unknown

persons. Men from the newspaper offices in Paris came to their little home to take



photographs of everything, from their baby to their cat and to ask for their opinion on all
sorts of subjects. For the curies, all this was the most painful of experiences from which they
did their best to escape and never completely succeeded. It left its mark upon them. For
many years, when strangers stopped her on the streets to ask, “Aren’t you Madame Curie?”

Marie would answer in a cold voice mixed with fear, ‘No, you are mistaken’.

Write an essay:
(a) Role of senior citizens in Indian Society.
(b) Discipline

(¢0 Manners maketh a man

Answer the following :

(a) Write a report on the cultural fest in your college.

(b) Write a report on the increase in crime rate in your city.

Use in sentences of your own.
(a) broke down

(b) gavein

(¢) Put up with

(d) to pull through

(e) Herculean task

(H  lion’s share

(g) Dbell the cat

(h) apple of one’s eye

Answer the following :
(a) Write dialogues between parents on what birthday gift to give their child.
(b) Write a letter to your father requesting for extra money for the class excursion.

(¢) Write a letter to the principal of your college asking for a week’s leave to attend your
cousin’s wedding.
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1. Answer questions. I ferEal
(a) Sketch the character of Jeemutha Vahana as described by Sri Harsha.
SiaareTe e aEfE $ed ?
(b) Write the central idea of the Drama URUBHANGA.

FETE TR TUH &Y for@q|

(¢c)  Sketch the character of Duryodhana as described in Urubhanga.
e ¥t e g7
(d) Write the story of Sri Krishnasya Maitri.
‘st 3fd aremvTT S fowal
2. (a) Describe how Viswamitra attained the status of Brahmarshi.
foranfeet: = sr: ug greea: ? fomreaal
(b) Write the story of fassiidysm|
sy 3fa e gy foea)
3.  Explain the following with reference to context.
oy =mea|
(a) A FEf FET g |
(b) = gd HERSE fiEnfor g af=)
(c) HTdiehd TaFs=HHg guT|
(d) A 9 UE ARG YSed|
(e)  dRAT wfcaygedie YfH: |
() HERTENTE TR |

(g) rrafawsn g:fad gHEEEE|
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1. Write in brief note.

e foaal
(a) WRM (b) TR |
() gFEd=H] (d) e

2. Define and illustrate Alankaras.

AegAeT Fufad g foreql
(a) == (b)  FAATa=E: |
(c) 3 d) 3ggl

3. Write the forms of the following Sabdas.

fafde rafamftey sregemfr foraa

(a) SegE (TwH) (b) TS (o)
(0  ag (qefram) (d) e (Fer)
(e) fagy (swermm) ® T () (weh)

(8) udg (&) (fgeitam) (h) g ()

4.  Write the forms the following adding the given terminations.

T, Arifrean forea|

() F-dA (b) U3 -
(0 ¥ - haq (d ™ -1
(e) @ + el ® F+3q

() U+ TH + TIq



Translate sentences into Telugu or English.
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1. =i % af=g i
(a) ddHieE|
(b)  Bfercfrewror T
(0 digdara fgadh
2. fow w feg fafaw)
(a) gL
(b) foeneff et T
() wh-faram
(d) sl st THET)
(e) TEdh|

3. wifeca fawa w fay fafau)
(a) fesmra it aftfeufaat = aagmy
(b) wfcherrer: fawdt w1 Tavt-m & am ¥§ fafau)
(¢) 3UE & fo W T oig forgemt 388 YH=ie <1 TATH wdTgd |
(d) TR e 1 uieeR i

4. fafafea w & &= § e fifv

Most of us take life for granted. When we are in good health, death is unimaginable. Those
who can see and hear seldom make the fullest use of these blessed faculties. Their eyes and
ears take in all sights and sounds hazily, without concentration and appreciation.
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SOLID GEOMETRY AND REAL ANALYSIS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Find the equation of the plane which is perpendicular to the plane 5x+3y+6z+8=0 and
which contains the line of intersection of the planes x +2y+3z2-4=0, 2x+y—-2z+5=0.

x+2y+32-4=0, 2x+y-2z+5=0 Hero PEIR) EOR o0& bxr+3y+6z+8=0 Herd
©ONOTT &0t HBOO DEBETR) K057, 06.

x—3:y—2:z—4 and

Find the equation to the plane containing the parallel lines

-5 -1
x+2 y z-3

4 5 1

Y3 Y72 274 e FTEoY 273 saross Bye om aGh Beo ©dosseR
4 -5 -1 -4 5 1
E208° 0.

Find the centre and radius of the sphere x® + y* + 2% +6x+8y-11=0.
x4+ y?+27 +6x+8y—11=0 RGH00 GBook), So&dw, TG E208%,08.

Show that x = -y = -z is a generator of the cone 5yz + 8zx —3xy =0
5yz +8zx —3xy = 0 030 x = —y = —2 28 BIEOY @ JI°08.

If {S,} is a Cauchy sequence then prove that {S,} is convergent.
{S,} §% e90|E00 @008 {S,} e9HB0D 90ED0 @90 BTNV,

Test for convergence of 1-— 1 + 1.1 +....
2 3 4
1 1 1 « «
Lo tgmy o W), oRRsens $B88owod.

State the Lagrange’s mean value theorem.
BM0oe S0Gg0 oD ﬁ)zgow:o& (KH20W0&.

If f:[a,b] > K is continuous on [a,b] then show that f is integrable on [a,b].
[a,b] ® f:[a,b] > R ea&’)&a@bqo_é, e3P [a,b] P [ 35750000 @D H3°H0é.
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Mathematics — 11

SOLID GEOMETRY AND REAL ANALYSIS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

A variable plane is at a constant distance 3P from the origin and meets the axes

in A, B, C. Show that the locus of the centroid of AABC lies on x* + y% +z% = p>.

(i1)

b) @

(b)

(i1)

@)

(i1)

@)

a8 D8 BODW JICODOLY oD VPG 3P &750S° Gotare DETHSEIOR
A, B, C 0 3¢ 89050509 8. AABC B, o[megrdsn 9ot $¢30 x* +y° +2% = p°
9 DI°D0G.

Find the limiting points of the coaxal system of spheres
x>+ y* +2° —20x + 30y — 402 +29 + 1(2x — 3y +42) = 0

x4+ 9% +22-20x+30y—402+ 29+ A(2x -3y +42) =0 D3D0ES00 DrD0D ARSI
@D BowIYen 8T odk.

Prove that the equation 2x? —6y* —122% +18yz+2zx +xy = 0 represents a pair of
planes and find the angle between them.

2x% —6y” —122" +18yz+2zx +xy = 0 JDESI0 28 o OS0M0RY  RI*DOMIDE
B, T3 B¢ Seadven 808708,

Show that the spheres x2+ y2+ 22+ 6y+2z+8=0, x%+y2+2%+6x+8y+42z+20=0
are orthogonal.

x2+y2+22+6y+2z+8:0, x2+y2+z2+6x+8y+4z+20:0 REGAV0  ©980023500
WorHok.

-1 y-2 2z-3 x-2 y-3 z-

3 4 3 4
also find their point of intersection.

Prove that the lines > are coplanar and

x; _ yj :2;3; xj:y;?’ :2;4 B0 SHACHHNOD DETD0BH0S 0805

&5 BPO 0D DOLIDR S8 ,08.

Show that the S.D between the lines
x+k=2y=-12z; x=y+2k=6z—-6Fk is 2k where £>0.

E>0% x+k=2y=-12z; x=y+2k=6z—-6k 3o 263(;55 §§0Kox &80 (S.D)
2k 99 HoeHod.
Find the equation of the cone whose vertex is (1,2, 3) and base y* =4ax, z=0.

1,2,3) %’ngm, FPHERD ¥ = 4ax, z = 07T Ko B0 IDEBEad0 E0870é.



(a)

(b)

(a)

(b)

(i1)

(@)

(i1)

(1)

(i1)

@)

(i1)

(@)

(i1)

Find the equation of the cylinder whose generators are parallel to % = % == and

[SSERN

which passes through the curve x*+y? =16, 2=0.

x?+y% =16, 2 =0 HES0H Podao, le_

o BRE [5AT0BHS0M G0ss 8398 TP

wln w

Ko JISa0 $308%08.
State and prove Cauchy’s first theorem on limits.
@500 STANSE DEroTrR) (H3D0D DETDOVOE.

Test for convergence of 2(3\/n3 +1-n).
n=1

i(‘o’\/n?’ +1—n) GB0E); PIBEIB 58390908,
n=1

> 1 1 1 1
Test for convergence of D' =[l4+=+=+...+—].
g G Vit 3 ]

n=1

n

i(—l)” 1[1 + % + % +ot 1] B3 AgTRY $5880v0&.
n=1 n

-1

Ve _
Let f:R—> R be such that f(x):%
e e

if x#0 and f(0)=1. Discuss the

continuity of f at x =0.

Vo gl
f@)=5"5, x#0 8o f(0)=1 edbpey dWgposwES f:R-R
e*+e "

S0AETR8 & = 0 D 9dN)HB HGyoHod.

State and prove Rolle’s theorem.
5°Sy AETOBR) (3590 DETDODOE.

Evaluate It (Secx—Tanx).

a
x>

2

It (Secx —Tanx) d Ke3owvod:.

X

2
State and prove fundamental theorem on Integral calculus.

OB JDTPEOD |EE ﬁ)zgoéémm (D520 dEID0HOE.

a 3
Prove that f(x) =x” is integrable on [0,a] and J.xzdx = %.
0

3

[0,a] 206 f(x) = 22 $SHTEDDOD[0D 208050 j x2dx = % 0 DETNOH0E.
0
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Explain transport phenomena is gases.
TAPOS® DR EREOITOR DB,
Describe Carnot’s engine. Obtain an expression for the efficiency of
Carnot’s engine.
5257 A0OEHRND $G00H00. 5967 AHOWE SEHL, SREBERND &EBOBRIDL.
Describe the liquefaction of Helium by Kapitza method.
E2eT DES Trgor OO0 (GSDEERD HGOBIB.
[~ )
Describe the construction and working of disappearing filament
pyrometer.
@Sy 6y~ P6 ReB DoEIS 5085 3R BaKo AETHD $FoRH.
What is spherical aberration? Describe methods to minimize it.
RP9a5> DBEH0RMRN? TrHD DTB0D DT HGoBB.
Describe the Newton’s Rings experiment to determine the wavelength
of a monochromatic source of light.
D 955708 e398 HEONGFgE ENRBLD BIpaS BOTe (SBIH50 3o0I0.
What is optical activity? Describe how a polarimeter is used to
determine the specific rotation of a liquid.
9B FReRodmRN? ebwd TRoe af (PN @Y, IR FReBH0 SRR HEKS0D
580000,

Explain the basic principle of holography. Describe the Gabor
hologram.
TS T (BE0E BB 95809 b TS e HGowonw.

Explain isothermal and adiabatic processes with examples.
RBBTGUT® 20800 F6°GE PIBADOR GrrTSenned” 2980wSw.

State second law of thermodynamics and derive Clasius Clapeyron
equation.
S BoES DALIIRY BeH5o0 0B SHODH STVOS HETETR) T,
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1. Using Maxwell’s thermodynamic relations derive for the difference of
two specific heats of a perfect gas.

10.

B0ERS &1 RS 200G 2 SBIY ToA0D B0k, BB FToH HHIESEIN T2,

Derive expression for Joule Thomson cooling.

TS0 F6AEEETDE FowoBoDH FHTRWHNK ToRegD.

Describe Fery’s black body.

8§39 HBoBIB0.

State and explain Bose-Einstein distribution law.

5R-DSYS DS S (IR BOD D5B0BIH.

What are modal points and cardinal points of an optical system?
K08 9593 Bk, 2G9S DoY) BBALO DYS DOSIPER) K78 o080,

Explain astigmatism and methods to minimize it.

OS> D3SE? 508 T DIEd SEBOOR Di5BOBIBV.

Explain the conditions for coherence. What is temporal and spacial
coherence?

X)oa)g RROFHORD DHBOWIBN SPerBE H08AN LZ)B%"éfeéé X)oa)géfeobmf);’b?

Describe the construction of Fresnel half period zone.
@55 @gs"e) Do0Le HOEI BwE), K)c‘as'a:wm :)gommo.

State and explain Malu’s law.
B0 DOLHIR) BOD DHBoBID.

Write the advantages of fibre optics.
&)BHE0B (HATTET O KI°8) ErdvHw.
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(a) Explain about matter basing on the classification of resistivity and energy.

DFBES $08010 ¥§ P GrESE Saro oY), 9§55es 080D 5B0B0E.

(b) Explain about doped n-type semi conductor.
28 n- 8%o E0N DE0EEE 95B0WHos.

Explain the construction, working and V-I characteristics of zener diode.

L6 EBE B, D00, SO DO S0 BB V-1 eegerorn 9580dod.

Explain the current components in BJT and explain fixed bias arrangement of a

transistor.

BJT &o08), 5058 armesd 9380908 908000 (L7 G308, R woird @085

DHBoHAN.

(a) Draw and explain an RC coupled amplifier and its frequency response.

RC coupled $8%0 &%), doco A, 25809 BuBaby T &Y, &% sy

D80S K800 HI9BoHos.

(b) Explain transistor amplifier in CE configuration.

CE 975908 [¢b 5550 800 9980908,

(a) Explain the concept of Darlington pair .
GB0yS w8 FBNY); FTHH IHBOHIN.

(b) Explain the working of colpitts oscillator with a neat circuit diagram.

5H6Y), LBeE FBoo¥); I B 98,8 Hodho & 9H80wodk.
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With a neat circuit explain the working of monostable multivibrator.
$%),63 H0aH08° S RS 2P Bed B, 5 HEHH 9580H0é.

Explain the construction, working and V-I characteristics of Depletion MOSFET.
&;)sz MOSFET &38), Doy, 30 &% K850 V-1 eegeron 9580H08.

Explain the working and V-I characteristics of UJT.
UJT BooE); 50 DA 70, HBoxw V-1 ©9POEETON DDB0WOE.

Draw an experimental set up to study SCR characteristics.

SCR e2egrmod) eggoHdo DOV (NSRRI 260530 RaHod.

Explain the working of photo diode and photo voltaic cell.
DT ERBIE 208050 TP0d DAED Eeao Baog), SO B dBBoB0E.




